


























































f(t) F (s)

δ(t) 1

1(t)
1

s

t · 1(t)
1

s2

t2 · 1(t)
2

s3

eα t · 1(t)
1

s− α

t · eα t · 1(t)
1

(s− α)2

sin (ω t) · 1(t)
ω

s2 + ω2

cos (ω t) · 1(t)
s

s2 + ω2

t · sin (ω t) · 1(t)
2ω s

(s2 + ω2)
2

t · cos (ω t) · 1(t)
s2 − ω2

(s2 + ω2)
2

eσ t
· sin (ω t) · 1(t)

ω

(s− σ)
2
+ ω2

eσ t
· cos (ω t) · 1(t)

s− σ

(s− σ)
2
+ ω2

t · eσ t · sin (ω t) · 1(t)
2ω (s− σ)

[

(s− σ)2 + ω2

]2

t · eσ t · cos (ω t) · 1(t)
(s− σ)

2
− ω2

[

(s− σ)
2
+ ω2

]2

Tabella 1: Segnali e corrispondenti trasformate di Laplace








































